FOREST BEAT OFFICER AND ASSISTANT BEAT OFFICER
(NOTIFICATION NO. 07/2019)
PAPER-Il (General Science and General Mathematics)
FINAL KEY

Question Number : 1 Question Id : 47163920473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the variety of coal has highest proportion of carbon?
Options :

4 « Anthracite

Question Number : 1 Question Id : 47163920473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 2 Question Id : 47163920474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is/are true about solar cell?
a. Solar cell converts solar energy into electricity.
b. These are made up of semiconducting materials such as silicon and gallium.

¢. This is conventional source of electricity.
Options :
5> « Bothaandb

Question Number : 2 Question Id : 47163920474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 3 Question Id : 47163920475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Major component of biogas is-

3 « Methane



Question Number : 3 Question Id : 47163920475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 4 Question Id : 47163920476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The energy stored 1n fossil fuel is-
Options :

-  Chemical energy
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Question Number : 4 Question Id : 47163920476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 5 Question Id : 47163920477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Butane and propane are major constituents of-
Options :

1. v LPG

Question Number : 5 Question Id : 47163920477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 6 Question Id : 47163920478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The heat in solar radiation 1s due to-
Options :

1 « Infra-red radiation



Question Number : 6 Question Id : 47163920478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 7 Question Id : 47163920479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

In a biogas plant. which of the following is not needed at all?
Options :

5  OXygen

Question Number : 7 Question Id : 47163920479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 8 Question Id : 47163920480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The fuel having the lowest calorific value among the following is-
Options :
=  Charcoal

Question Number : 8 Question Id : 47163920480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 9 Question Id : 47163920481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the statement 1s /are not true about hydrogen fuel?
a. Hydrogen fuel 1s a zero emission fuel when burned with oxygen.
b. It is environment friendly.

¢. Hydrogen. when consumed in fuel cell, produces only alcohol.
Options :
> « Onlyc



Question Number : 9 Question Id : 47163920481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 10 Question Id : 47163920482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

Which of the statement is/ are true about mangal turbine?

a. Mangal turbine is unique. ecofriendly. efficient and pollution free turbine pump.

b. It has Indian patent for its uniqueness.

¢. Mangal turbine can be used to harness the energy of flowing water to lift water for 1rrigation purposes.
Options :

4V All of these

Question Number : 10 Question Id : 47163920482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 11 Question Id : 47163920483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The stored form of polysaccharide in plants and animals respectively-
Options :

1L Starch and glycogen



Question Number : 11 Question Id : 47163920483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 12 Question Id : 47163920484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Chlorophyll a reflects — and contributes to the observed green colour of most of the plant.

Options :
»  Green- yellow light
Question Number : 12 Question Id : 47163920484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 13 Question Id : 47163920485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Match the following with the help of suitable codes given below.

A B
a. Chemosynthetic autotrophs 1. cuscuta
b. Parasitic 2. fungi
¢. Saprophytic 3. lichen
d. Symbiotic 4. iron, hydrogen and Sulphur bacteria

Options :

o B8 B2 R d3



Question Number : 13 Question Id : 47163920485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A B

a) 3r0osBs ety 1. S e

b) 02065 2. Hoh
C) DO 3. 935
d) doeradredS 4. DOS, TE2S, D6, ergbon

Correct Marks : 1 Wrong Marks : 0.33
Options :

1‘\/a-4 b-1 c¢-2 d-3

Question Number : 14 Question Id : 47163920486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following statements 1s/ are not true about anaerobic respiration?
In yeast. anaerobic respiration takes place.
b. The anaerobic respiration in yeast cells results in alcohol. carbon di oxide and energy.
c. Anaerobic respiration takes place in muscle during any kind of strenuous activity results in the production of
glycogen and energy.
Options :
3 « onlyc

Question Number : 14 Question Id : 47163920486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 15 Question Id : 47163920487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Mar

The correct pathway of inhaled air in respiratory tract-
1. ¢

Nasal cavity-pharynx-trachea-primary bronchi-secondary bronchi-tertiary bronchi-branchioles-alveoli



Question Number : 15 Question Id : 47163920487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 16 Question Id : 47163920488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements 1s/are true about excretion in human beings?
a. Excretion 1s the removal of nitrogenous waste from the body.
b. The opening of urinary bladder is called urethra.
c. The functional unit of kidney is called glomerulus.

Options :
1 « Bothaandb

Question Number : 16 Question Id : 47163920488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 17 Question Id : 47163920489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Match the following using suitable codes.

A B
a. Auxin 1. promote cell division
b. Gibberllins 2. wilting of leaves/stomatal closure
¢. Cytokinins 3. responsible for phototropism and geotropism in plants
d. Abscissic acid 4. help mn stem growth
Options :
&3 Bt el d2

2.



Question Number : 17 Question Id : 47163920489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
5. o a3 b4 c¢1 d=2

Question Number : 18 Question Id : 47163920490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following statements is/are true about hormones?

a. Hormones are released into and reach the target through blood.
b. The male gonads secretes oxytocin.
c. The parathyroid gland secretes paratharmone which regulate calcium metabolism.

d. Pineal gland secrets the hormone melatonin and 1t also functions as biological clock.

Options :
1« a.candd

Question Number : 18 Question Id : 47163920490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 19 Question Id : 47163920491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Match the following with given suitable codes.

A B

(o=

a. Oxytocin . fight hormone

. male hormone

[ Q]

b. Progesterone

¢. Adrenalin 3. birth hormone
d. Testosterone 4. pregnancy hormone
Options :

a3 b4 c1 d-2
1. ¢

Question Number : 19 Question Id : 47163920491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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A B
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Options :

a3 b4 c1 d-2
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Question Number : 20 Question Id : 47163920492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

Which of the statement is/are false about human brain?
a. the human brain 1s the central organ of the human nervous system.
b. Medulla oblongata 1s the largest part of brain.
¢. cerebellum plays an important role in motor control.

3 Only b



Question Number : 20 Question Id : 47163920492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 21 Question Id : 47163920493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the statement 1s/ are true about human heart?

a. Human heart is divided into four chambers.

b. Sinoatrial node is called the heart’s natural pace maker.

¢. The normal blood pressure of heart 1s systolic pressure/diastolic pressure which is 80/120 mm Hg.
Options :

5 o Bothaandb

Question Number : 21 Question Id : 47163920493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 22 Question Id : 47163920494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Water and minerals are transported from roots to upper plant parts through-
Options :

> « Xylem vessels



Question Number : 22 Question Id : 47163920494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 23 Question Id : 47163920495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 23 Question Id : 47163920495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

In D.N.A. the pyrimidines are and
Options :
-  Thymine, cytosine

Question Number : 24 Question Id : 47163920496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
After fertilization. secondary nucleus converts into-

Options :

5 o endosperm

Question Number : 24 Question Id : 47163920496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 25 Question Id : 47163920497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Who has given the idea of survival of the fittest?
Options :

¢ Darwin

Ll



Question Number : 25 Question Id : 47163920497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 26 Question Id : 47163920498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
A toxic gas. responsible for the smell of burnt matches. and released naturally by volcanic activity is-
Options :

o Sulphur di oxide

Question Number : 26 Question Id : 47163920498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 27 Question Id : 47163920499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The king of chemicals 1s-
Options :

» Sulphuric acid

-
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Question Number : 27 Question Id : 47163920499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 28 Question Id : 47163920500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The element found in free- state in nature is-
Options :

¢ gold

=2
5



Question Number : 28 Question Id : 47163920500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 29 Question Id : 47163920501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Match the following using the suitable code.

A B
a. Ashwagandha 1. Ricinus communis
b. Castor 2. Trigonella foenum- graccum
c. Fenugreek 3. Eclipta prostrate
d. Bhringraj 4. Withania somnifera
Options :

i a4 bl &2 d3

Question Number : 29 Question Id : 47163920501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1« a4 b1l c2 d-3

Question Number : 30 Question Id : 47163920502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Acid rain is caused by the emission of-

Options :

v Sulfur di oxide and nitrogen oxide



Question Number : 30 Question Id : 47163920502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 31 Question Id : 47163920503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Green lungs are associated with-

Options :

>  Forests

Question Number : 31 Question Id : 47163920503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 32 Question Id : 47163920504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
World environment day is celebrated on-

Options :
> « 5 June

Question Number : 32 Question Id : 47163920504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

Question Number : 33 Question Id : 47163920505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
21 march is celebrated as-
Options :

5 « World forestry day



Question Number : 33 Question Id : 47163920505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 34 Question Id : 47163920506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following is secondary pollutant?
Options :

4 ¥ Peroxy acetyl nitrate

Question Number : 34 Question Id : 47163920506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 35 Question Id : 47163920507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The biodegradable pollutant among the following 1s-
Options :

4  Leather

Question Number : 35 Question Id : 47163920507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 36 Question Id : 47163920508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

4.9

Commonly known Indian ginseng is-

Options :

» Withania sominifera

Question Number : 36 Question Id : 47163920508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 37 Question Id : 47163920509 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The micro organism contaminating the Ganga water 1s-
Options :

A o ; 1 1 ac 'ic

4 « Coliform bacteria

Question Number : 37 Question Id : 47163920509 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 38 Question Id : 47163920510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The 3 R’s used to save the environment 1s-
Options :

I Reduce. recycle. reuse

Question Number : 38 Question Id : 47163920510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 39 Question Id : 47163920511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The increasing concentration of substance. such as a toxic chemical. in the tissue of tolerant
organisms at successively higher levels in a food chain-

Options :

>  Bilo-magnification

Question Number : 39 Question Id : 47163920511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 40 Question Id : 47163920512 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Ozone layer of atmosphere absorbs-

2 ¢ U.V.rays

Question Number : 40 Question Id : 47163920512 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 41 Question Id : 47163920513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Establishment of a forest in an area where there was no previous tree cover is called-
Options :

& 4 Afforestation

Question Number : 41 Question Id : 47163920513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 42 Question Id : 47163920514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The highly poisonous alkaloids strychnine and brucine of nux vomica is derived from the plant part-
Options :

5 « Seed

Question Number : 42 Question Id : 47163920514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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*Chipko movement™ was basically against-

5  Deforestation



Question Number : 43 Question Id : 47163920515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 44 Question Id : 47163920516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following statements is/are not true about sun?

a. The sun i1s the star at the center of the solar system.
b. The inner most layer of sun’s atmosphere 1s called core.

c. The nuclear fission of hydrogen is the source of energy in the sun.
Options :
2z ¢ Onlyc

Question Number : 44 Question Id : 47163920516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 45 Question Id : 47163920517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Orion 1s a-
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Question Number : 45 Question Id : 47163920517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
£,0000 900 —

- QLS DOCR0 (57 PTN)



Question Number : 46 Question Id : 47163920518 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is/are true about geostationary satellite?

a. Geostationary satellite appears to be stationary at fixed point relative to the earth.

b. The period of revolution of geostationary satellite is 48 hours.

c. A geostationary satellite 1s used for communication purposes. television broadecasting and weather forecasting.
Options :
> « bothaandc

Question Number : 46 Question Id : 47163920518 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 47 Question Id : 47163920519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following pair is not properly matched?
Options :

5 The slowest moving planet of solar system — Mars

Question Number : 47 Question Id : 47163920519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 48 Question Id : 47163920520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following is an artificial satellite?

Options :
1 « DBhaskara



Question Number : 48 Question Id : 47163920520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 49 Question Id : 47163920521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
At which temperature. Water 1s most dense?

Options :
> #4°C

Question Number : 49 Question Id : 47163920521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 50 Question Id : 47163920522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Natural gas 1s a mixture of gases and contains mainly-
Options :
- Methane and higher hydro- carbons

Question Number : 50 Question Id : 47163920522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 51 Question Id : 47163920523 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

If sum of five whole numbers is 146. then the minimum value of the largest number of these is:

DELETED



Question Number : 51 Question Id : 47163920523 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
D Qg (whole) Doage Ao 146 9003 &3 Doage &°) & DY Doay (largest number)

cﬁmsb 839 (minimum) Dewva (value).

DELETED

Question Number : 52 Question Id : 47163920524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

If m and n are distinct integers. both divisible by 5. then which of the following may not be true?

Options :

- M Tnisdivisible by 10

Question Number : 52 Question Id : 47163920524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
m, N en Joc DT QG Dogen (distinct integers), BotHAdr 5 & Z)%t\fqom 2H00eIEIN),

9008 & 308 7635 DA Daaw ¢ (not true)?

Options :
3 M+ N0 10 eAod.

Question Number : 53 Question Id : 47163920525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. 5+2v/3 — -
—=a + bV 3. where a. b are integers. then
T7+4V3 =

Correct Marks : 1 Wrong Marks : 0.33

Options :
5 @ a=1l,b=-6

Question Number : 53 Question Id : 47163920525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
5+2v/3
7+4v3

= a + by/3, &daIn a, b eV VPG VoW 0B W

Options :
s a=11,b=-6
Question Number : 54 Question Id : 47163920526 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

A rational number between V2 and V3 is:

Options :

3

2 2
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Question Number : 54 Question Id : 47163920526 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
V2 8o V3 e QOGS A £950£303) 2oay (rational number) —
Options :
3
3 ¢ 2

Question Number : 55 Question Id : 47163920527 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Value of (256) %1¢ X (256) % is

Options :

1.¢ 4

Question Number : 55 Question Id : 47163920527 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
(256) ™' X (256) % cawg), Dewd

Options :
1.¢ 4

Question Number : 56 Question Id : 47163920528 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

-~ V3+V2 V3- V2 ~ 3 3 .
If x =—=——and y = —=——+. then the value of x° + v 1s:
V3—2 Y - ¥R 2
Options :
3. ¢ 970

Question Number : 56 Question Id : 47163920528 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

3+V2  _ [a—\2 :
= 712 250000 Y = ——— esondd X7+ Y 0Ing). Dend £9:)EB06).
v3—v2 V3+ V2 G
Options :
5 & 970

Question Number : 57 Question Id : 47163920529 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

A certain sum of money in three years becomes twice on compound interest.
In how many years it will be 8 times?

Options :
1.+ 9



Question Number : 57 Question Id : 47163920529 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

28 HEF Fod 20gaw (Sum of money) Surc) DoddyGawES” 5o (twice) L)e0d.

296 D) VoDBYCNOES” 8 Bew DD ?
Options :
1.¢9

Question Number : 58 Question Id : 47163920530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The least number. which when divided by first five prime numbers leaves the remainder 1. is:

Options :
> 2311

Question Number : 58 Question Id : 47163920530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
D068 DA PR (Prime) Doagewd 2@y 3haw (remainder) 1 oy deEND0Ld

€967 {imcl (least) Qoay

Options :
@ 2311

2

Question Number : 59 Question Id : 47163920531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
On solving the equation logs [ loga(logst)] = 1. the value of t 1s:
Options :

4 & 6561

Question Number : 59 Question Id : 47163920531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
logs [ log,(logst)] = 1, &0 FHoare Dy t G0, Dewd

Options :
4 @ 6561

Question Number : 60 Question Id : 47163920532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

a+b loga logh .
- g - g 1S:
2 2

If a> + b* = 7ab, then the value of log

Options :
1v 0



Question Number : 60 Question Id : 47163920532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
a+b loga logb

a? + b? = 7ab ©@0N log S G005, Ded
Options :
1.¢ 0

Question Number : 61 Question Id : 47163920533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

If A and B are two sets such that n(A)=a. n(B)=b. and n (A N B) = C then n(A U B) 1s equal to:

- o atb-c

Question Number : 61 Question Id : 47163920533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
A 080w B eodd daneven n(A)=a, n(B)=b &dasw n (AN B) = C eacdgeren o3 n(A U B)

[SENSINTA) £ VATP0.
Options :
> o a+b-c

Question Number : 62 Question Id : 47163920534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
HCFofx*-y. x’ +y and x’ +y° is:

Options :
x-'— }r

)
p-o8

Question Number : 62 Question Id : 47163920534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

X2-y2, X+ Yo X + Yy’ o a3ng), (103 &ayC sPoerosan (HCF) £9:9)E3000).

Options :

Question Number : 63 Question Id : 47163920535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

LCMofx—y. x+vy. x*+ vy and x*+y* is:

Options :



Question Number : 63 Question Id : 47163920535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

X—y, X +V, X2+ y2a00a x*+ vyt e £23 Fraray Medaan (LCM) £9:)E808.
Options :
8§
s X 7Y

Question Number : 64 Question Id : 47163920536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Given that one of the zeroes of the cubic polynomial x* + ax’+bx+¢ is -1.the product of other two zeroes is:

Options :
1. ¢ b-a+l

Question Number : 64 Question Id : 47163920536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

X* + ax®+hx+c 20 05 5PN (cubic polynomial) alog); 28 IraegSo (zero) (-1) esonad HED
0o BPTFS00 (zeros) GBS, O8N (product) £9a)E080.

Options :
% Y 4 b"a+]

Question Number : 65 Question Id : 47163920537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The area of a rectangular field is 2000 m” and its perimeter is 180m. Its length and breadth are respectively:
Options :

5 « 20m. 40m

Question Number : 65 Question Id : 47163920537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
28 G D06 s°oaw (rectangular) Foaxn a0, DT 2000 B0 DL, QBAIL T°A) LD

~—

Soo (perimeter) 180 D6)@. o0 o°d A0S, T (length) 08a3n Deenyen

(breadth) saoomr
Options :
5> « 20m, 40m

Question Number : 66 Question Id : 47163920538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

y ’ ’ = o . i ) " .
Two Squares have sides p ecm and (p+5) em. The sum of their areas 1s 625 cm”. Their sides are:
Options :

s B P
5 WP 15m. 20m



Question Number : 66 Question Id : 47163920538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
ot 8060 (Squares) © d3nE), eeren b 20.20; 0810 (p+5) Do.a. T8 DT rR Ao 625

DEO0) Dot AW, T G308, Eanen

Options :
o 15 e, 20 e

Question Number : 67 Question Id : 47163920539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

: W— 1 1 1 :

On simplification + + 1s equal to:
P 14+qMNypgMm-PpP 1+qtMy4 g P 14+qPMygP—N 9

Options :

z ¢ 1

Question Number : 67 Question Id : 47163920539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

1 1 1
Lvy é. - v
RRIBOT e Y wg g D £ QAT0.
Options :
3. ¢ 1

Question Number : 68 Question Id : 47163920540 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

If the numerator of a fraction 1s increased by 2 and denominator by 1. it becomes 1.

Again if numerator 1s decreased by 4 and denominator by 2 1t becomes = The fraction 1s:

Options :
7

2« 8

Question Number : 68 Question Id : 47163920540 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
08 eZ)bQ\LaD ad30E), VDo (numerator) 2 66, 6o (denominator) 10003, -2 Dewsd 9ol

2000 (again) ©do 468 @B oA 2 SHB TD Ded T BYB0E. &3 D) AW

Options :
7
o 8

Question Number : 69 Question Id : 47163920541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The zeros of the polynomial x*+99x+127 are:

5> « both negative



Question Number : 69 Question Id : 47163920541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
X+ 99X +127 0308, HHFA0D (Zeros)

Options :
v CoCOAT® 22069 c“ooajgw

2

Question Number : 70 Question Id : 47163920542 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Sin2A =2 Sin A i1s true when A is equal to:
Options :

1.¢ 0°

Question Number : 70 Question Id : 47163920542 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
A = 290008 Sin2A = 2 Sin A 9008 daaw (true)

Options :
1. ¢ 0°

Question Number : 71 Question Id : 47163920543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

(1+tan @ + Sec 8) (1 + Cot 8 — Cosec @) is equal to:
Options :

3. ¢ 2

Question Number : 71 Question Id : 47163920543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

(1+tan8 + Sec @) (1 + Cot 6 —Cosec 8) = £9:0)E3008
Options :
3. ¢ 2

Question Number : 72 Question Id : 47163920544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The number of values of 8 satisfying the equation 25in®6 + 3Sin6 + 1 = 0in [o,2m] is

Options :
2.« 3



Question Number : 72 Question Id : 47163920544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

[0, 2] &S° 25in26 + 3Sinf + 1 = 0 eozd ?’OE).‘)SOC&‘L’)& 32 (satisfy) Hoco 6 T30, Ded (value)____

2.«?’3

Question Number : 73 Question Id : 47163920545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

- ) —— . Cos8 Cos@ .
The value of 8 when 0° < 6 < 80° satisfying the equation + =2 1s:
o Cosecf+1 Cosecf-1
Options :
2. 45°

Question Number : 73 Question Id : 47163920545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Cos@ Cos#@
+
CosecBf+1 Cosecf—1

= 2 930 DAECHaD (equation) & Do) DAL 0°< H < 80°

@03)5&)93.6& ) cﬁps‘,z7 eV
Options :
5 o 45°

Question Number : 74 Question Id : 47163920546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
= v - r 1 2 :
If tan (A+B)= V3 and tan (A — B) =% 0°< A+ B <90°then Ais equal to

v
Options :
3 45°

Question Number : 74 Question Id : 47163920546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

tan (A+B) = V3. tan (A—B) = \ig 0°<A+B <90° ®ONBA =

Options :
3 45°

Question Number : 75 Question Id : 47163920547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

If Sin 3A = Cos (A - 26°). where 0° < 34 < 90° the value of Ais
Options :

5> o 29°



Question Number : 75 Question Id : 47163920547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
0° < 34 < 90° @0ONAYCD Sin 3A = Cos (A - 26°) e0nd A QT DV

£9a)€3008).

Options :
5 o 299

Question Number : 76 Question Id : 47163920548 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
1+tan’4

———1s equal to:
1+Cot=A

Options :
4 o tarm A

Question Number : 76 Question Id : 47163920548 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

1+tan*A _ S5B508
D 0O
1+Cot2A —_—— )
Options :

4 tan® A

Question Number : 77 Question Id : 47163920549 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

tané Cotf

The value of + — Sec 68 Cosec 6 1s:
1-Cotf 1—-tanf

Options :
z o 1
Question Number : 77 Question Id : 47163920549 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33
tané Cot@
1-Cotf % 1-tané

— Sech Cosech = e9a)eB08

Options :
3¢ |

Question Number : 78 Question Id : 47163920550 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Sinf-25in36

—— s equal to
2 Cos268—Cos@ qu

Options :
3 ¢ tan O



Question Number : 78 Question Id : 47163920550 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Sin6—25in°@

S e £9aEB008
2 Cos®8—Cos8 D
Options :
3« tan 6

Question Number : 79 Question Id : 47163920551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The value of Sech Sec (90° - 6) — tanf - tan (90° - 6) 1s
Options :

1.¢0

Question Number : 79 Question Id : 47163920551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Sech Sec(90° - 8) —tanb - tan (90° - 8) @B0E); DD 9008,
Options :

1.+ 0

Question Number : 80 Question Id : 47163920552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

If V3 tan 6 = 1. the value of Sin®6 - Cos?0 is

Options :

4 &

B | =

Question Number : 80 Question Id : 47163920552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

V3tan 6 = 1 e90208 Sin®0 - Cos0 0330% 2806 £9)EB0A).
Options :

28
4.¢ 2

Question Number : 81 Question Id : 47163920553 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The locus of middle points of equal chords of a circle 1s:



Question Number : 81 Question Id : 47163920553 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
RATD e (equal chords) g3xg). 06§ Docape (middle points) a3g), Heaw (locus ) £9:9)E008

Options :
L S DD @ (a smaller circle)
B 2

Question Number : 82 Question Id : 47163920554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
In a triangle ABC. AB=13cm, BC=84cm and CA=85cm. Then the triangle is

Options :
1oht ano
- right angled

o

Question Number : 82 Question Id : 47163920554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
s 20220 ABC &5° AB=13 20.20., BC=84 0.20. a0boin CA=85 2o.0.

RONGED &5 B2

Options :

_, o0& Eman dod (right angled)
3. ¢

Question Number : 83 Question Id : 47163920555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
In a triangle ABC. AB=AC and BD is perpendicular on AC. Then BC?=

Options :

, » 2ACCD

Question Number : 83 Question Id : 47163920555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

208 Sadao ABC &° AB=AC 20803 AC 06 woeawn (perpendicular) BD. ey BC? =
Options :

5  2AC.CD

Question Number : 84 Question Id : 47163920556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The figure formed by angle bisectors of a rectangle 1s:

Square



Question Number : 84 Question Id : 47163920556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
&Y weacRo (rectangle) g, Enane dandwocd B (bisector) & Ioya es8y® £9:0)e3008):
IBEHT BT 5300

Question Number : 85 Question Id : 47163920557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

From a point in the interior of an equilateral triangle. the perpendicular distances

of the sides are v3cm, 2v3em, and 5v3cm. The perimeter of the triangle is:
Options :
o ¢ 48cm

Question Number : 85 Question Id : 47163920557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
208 P2 e Saaaw (equilateral triangle) &5 908G (interior) Do) Mol FHeFerdd ©02) GG

(perpendicular distance) e V3 20.80., 2v3 230. 5., 0050 5V3 0. &0, e Saba cogn&ee (perimeter)

e9:)e8008
Options :
R 4 48 230.&0
Question Number : 86 Question Id : 47163920558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

In the adjoining figure AB is parallel to DC. area of A AOD = 4cm? and

area of A BCD = 7e¢m?, then the area of A CDO is:

A )

4 3cm?



Question Number : 86 Question Id : 47163920558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
D)0 65°mé956 AB 292058 DC § darossaw, A AOD @) DFreamn 4 Keo) Do. & 2080w A BCD G308),

DTRHAD 7 GG Do, wwand A CDO clug), Deregn:__

A o)

Options :

4 3 C)”?\)O.g))

Question Number : 87 Question Id : 47163920559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The length of canvas 1.1m wide required to build a conical tent of height 10.5m

and the floor area 346.5m? is:

Options :

R 315v2m

Question Number : 87 Question Id : 47163920559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
28 Foaw 55702y (conical) MEeca (tent), @D g 10.5 Doexdd ™o, Do (floor) Prreyan 346.5 ||

E50CDHE TP DOYWELWD, 1.1 . Deeny o Sgrdn (w8 DR M) (canvas) dos T (0O

2955000008,
Options :
1 @ 315V2 &

Question Number : 88 Question Id : 47163920560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

: : . : . . : ; . : 22
A solid cylinder with radius of 7em has total surface area 440cm? Height of the cylinder is (rt=—7—-):

Options :

3cm
4.



Question Number : 88 Question Id : 47163920560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

7 o.a0 Tgrgam (radius) de 2.8 e'en 50 (83) (solid) wrdoe (cylinder) d3ng), 2o eddee) (surface)

22
DT 440 ] |20.20. 20008 Lrno a3, 0 £9:)e8008 (n=7):
Options :
-
4. 3 0.0

Question Number : 89 Question Id : 47163920561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The radu of two cylinders are in the ratio 3:4 and their heights are in the ratio 7:8.

The ratio of their volumes 1s:
Options :
- o 03:128

Question Number : 89 Question Id : 47163920561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Bocd Zraren (cylinders) o), organ (radius) en 3:4 DinBeS 0, 526 Jevew 7:8 DBS W ad) & e

20 HBAreaan (volume) © c3g), DS -

Options :
> o 63:128

Question Number : 90 Question Id : 47163920562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The ratio of areas of two triangles is 4:3 and the ratio of their heights 1s 3:4. then the ratio of their bases is:

Options :
5 o 16:9

Question Number : 90 Question Id : 47163920562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Bocd Szere) PTregRen 4:3 DB W, T8 Jven 3:4 DB S &) & T8 Brroaw
(base) © c3wg) DS

Options :



Question Number : 91 Question Id : 47163920563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Y " R ; 22
The surface area of a sphere 1s 4)2; cm=. Its volume 1s (n=7):

Options :

1
005=cm?
3¢ 7

Question Number : 91 Question Id : 47163920563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
4 . i .
452;t:>| [200.20. &8eser (surface) DT o) B (sphere) G300, D0HDB0°E0

(Volume) £9:0)e008 (n=§):
Options :

905% 20| [230.90.

Question Number : 92 Question Id : 47163920564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
A right triangle with sides 3ecm and 4cm 1s made to revolve about its hypotenuse.

. < . ;w22
The surface area of the double cone. so formed. 1s (7[:7):

Options :
L 52.8cm?
v

Question Number : 92 Question Id : 47163920564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
3 20. 2. ADBOID 4 0. 2. FBWANTT (10 208 o8 Hzfaaw (right triangle) S & gga (hypotenuse)

esTCoTT Zeaweso (revolve) dodco (a3 ﬁbobé.é 26 Foawae (double cone) &Hdae)

surface) Dwregm 99793008 (n=272):

Options :

n 52.8 | |>o.a0.

Question Number : 93 Question Id : 47163920565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

ABCD in a trapezium with parallel sides AB =a em and DC =b em. E and F are the mid points of DA and
CB. The ratio of ar(ABFE) and ar(EFCD) i1s:

Options :
> « 3atb:at3b



Question Number : 93 Question Id : 47163920565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
AB = a 70.2)., a08030 DC = b 20.20. 930 daresss (parallel) zberen M (OAD 208 D0 BBIEM20

(trapezium) &) 6. DA 2ubain CB o ahog); Q06 Do) (midpoint) en E 208030 F en #9020 €20 .

ABFE 208050 EFCD © OBDSL, LT LDV .‘0:3’39;9 £950)8008).
Options :
5> « 3atb:a+3b

Question Number : 94 Question Id : 47163920566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
ABCD is a parallelogram in which BC is produced to E such that CE=BC. AE intersects CD at F. If
ar(ADFB) = 3CM? . then ar(ABCD) is:
Options :
4 ¢ 12cm?

Question Number : 94 Question Id : 47163920566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
ABCD 923 2€ 2a070a0 wedodno (parallelogram) e&° CE=BC e9a3geaeare BC D E D0 FEhHoDTd. AE

9058 CD D F 5¢ Sa0 (intersect) Swod. ADFB 75000 = 3 &3] [20.20.
e902063 ABCD DT OO =

Options :

4 o 12 8| [20.20.

Question Number : 95 Question Id : 47163920567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Area of the circle that can be inscribed in a square of side 6cm is

Options :

i 9wem?

Question Number : 95 Question Id : 47163920567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

6 2o. . BB06Yo (square) &5° esoesdDedaan (inscribe) oo Sy a30E), DTPOLDD:
Options :

4 & 9 TS| [2o.20.



Question Number : 96 Question Id : 47163920568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
An 1sosceles triangle ABC in which AB=AC=6cm is inscribed in a circle of radius 9em.

then the area of the triangle is:
Options :
4 ¢ 8V2 cm?

Question Number : 96 Question Id : 47163920568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
9 o.2. TG0 (o) 2u8 B 5DV AB=AC=6 20.20. & Erdd 28 Dandersv (isosceles) Szdean

es0eddDedadn (inscribe) oberdHd. 9N €3 Bk PO

Options :

4. o 8vV2 &) [20.50.

Question Number : 97 Question Id : 47163920569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The area of the minor segment of a circle of radius 14cm. when the angle of the corresponding sector 1s 60°. is

Options :

49G 1 —V3)em?
2 o3

Question Number : 97 Question Id : 47163920569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
14 200.00. T§Frgo (o) 28 Dyeaues’, T Trerrdr ePjosdo (sector) aiwg), Eeadind 60° ©00DNYED &8 Heaw

G3008); enwderaoco (minor-segment) O3008), ST e9:)ER08
Options :

49Gn— V3) | [230. 0.
288 9 ‘

Question Number : 98 Question Id : 47163920570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

A mason constructs a wall of dimension 270cm X 300cm X 350cm with bricks each of size 22.5¢m X

22 = o, s 1 . ~ . .
11.25e¢m X 8.75cm and 1t 1s assumed that S space is covered by the mortar. Then the number of bricks used is:

Options :
5 & 11200



Question Number : 98 Question Id : 47163920570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
22.5 20.20. X 11.25 20.80. X 8.75 20.20. 28270 (size) (o @ens (brick) e &003rR00) 8 &ra D T

(mason) 270 20.5). X 300 20.20. X 350 20.5). 28270 00 e DB 0. €3 ﬁaé‘% Do (e (mortar)

eaclc):) e9: 08 o0, RN CD TPERICS @enS 202

5> ¢ 11200

Question Number : 99 Question Id : 47163920571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Marbles of diameter 1.4cm are dropped into a cylindrical beaker of diameter 7em containing some water. The

number of marbles. which can raise the water level by 5.6cm. 1s

Question Number : 99 Question Id : 47163920571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
208 2rarsc Hem (cylindrical beaker) a3wg), T§READ 7 Do.ab., BTN IS Eod DD &0\ 8. 1.4 20.20.

Te5oa (0 wens Trox (marble) &) YD &5 DD e5° D23 Dy Soeaw (level) 5 5.6 20.50. £ Docoran?

Question Number : 100 Question Id : 47163920572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
A rocket 1s in the form of a right circular cylinder closed at the lower end and surmounted by a cone with the

same radius as that of cylinder. The diameter and height of the cylinder are 6em and 12em respectively. If the

slant height of the cone is Scm. the total surface area is:

3 ¢ 96mem?

Question Number : 100
2,8 e55°% erraaw (Foe %@233;) (rocket) 2,8 ©08) WE"S0 YTPDAW DT Gol, Sold TN SIFRIONE, DOAKD QD

FGFETeRE Vel Fgrdo (i dowa) ©RE PR (surmounted) S¢S 18- PRS0 C30Ey, gl OOk oJeoei Salorr 6
R00.80. SDOOKN 12 Ro.N. Fowe) AT, rew ok (slant height) 5 0.8, wonS Sougho &DOSBL JTwgan

(total surface area) =

5 96 o[, .



